QA 2001 I1/1

Lose folgende Gleichung:
2-7x _14-17x 2-3x , x-1_1 /Hauptnenner - 60

12 60 5 3 6
60(2-7x) 60(14-17x) 60(2-3x) 2-60(x-1) 60-1 / kiirzen

12 60 5 3 6

5-(2-7x)-(14-17x) =12(2-3x)-40(x-1)-10 / Klammer

10 -35x-14+17x =24 -36x - 40x+40-10 / Zusammenfassen

-4 - 18x =54 - 76x /+76x/+4

58x =58 /58
X =1

QA 2001 Iv/1
Lose folgende Gleichung:
15x + 225x-45) 2A6x+1) x-%4 5 / Hauptnenner - 30

3 5 2

30 2(25x-45) 30-2(6x+1) 30x-4) 30 3 0 kiirgen

30-15
POX 3 5 2

45x + 20(25x-45) -12(6x+11) -15(x-4)+90 =0 / Klammer

45x + 50 x-90 -72x - 132 - 15x + 60 + 90 =0
8x - 72 =0 /+72
8x =72 /:8

X =9

®© Reutner Johannes



QA 2002 I/1
Lose folgende Gleichung:

;_1+5%_§.(%_7_é5)=§_3,5 / Klammer
;_)7( +55 - g + 1_2 = 1;3 -35 / Hauptnenner - 18x
18x-17 +18x 55 - 18x -16 s 18x-15 _18x-13 18x -35 / Kiirzen
3x 18 X

153 + 99x - 96  +1bx =234  -63x / Zusammenfassen

57  + 114x =234 -63x /+63x/-57

177 x =177 /177
X =1

QA 2002 Iv/1

Lose folgende Gleichung:

2X+3—3X+8=§—2-(X—1)+11%

3 4 6
2X+3—3X+8=§—2x+2+11,5 / Hauptnenner - 12
3 4 6
12(2x+3) 12Bx+8) 12-5 45 5, 1 12.2,12-115 / Kiirzen
3 4 6
4(2x+3)-3(3x+8) =10-24x+24+138 / Klammer
ausmultiplizieren
8x+12 -9x -24 =172 - 24x / Zusammenfassen
-x -12 =172 - 24x /+24x / + 12
23x = 184 /23

X =8

®© Reutner Johannes



QA 2003 I1/1
Lose folgende Gleichung:

5_ x-17 = 8 + 7x+12 + 2.(3.° / Klammer ausmultiplizieren
4 6x 3x 1Gx 2 (x 6) P

5 5x-17 8 +7X+12+1_5_§ / Hauptnenner - 60x
4 bx 3x 16x 2x 12

60x-5 60x(5x -17) _ 60x -8 . 60x(7x +12) . 60x-15 60x-25

/ Kiirzen
4 6x 3x 15x 2x 12
75x -10(5x-17) = 20-8 +4(7x+12) +450 - 125x
75x -50x + 170 = 160 +28x+48 + 450 - 125x
25x +170 = 658 -97x / +97x/
- 170
122x = 488 /122
X = 4
QA 2003 III/1
Lose folgende Gleichung:
20 - (%x + 3) + 6 —EOX =265 - w / Klammer ausmultiplizieren
10x + 60 + 280X _ 26,5 - M / Hauptnenner - 8
80x + 480 + X0~ F0X) 51, 80X+ E0) / Kirzen
80x + 480+ 2(6-80x) =212 - 4(10x + 80) / Klammer ausmultiplizieren
80x +480+12-160x =212 -40x- 320 / Zusammenfassen
-80x + 492 = -108 - 40x / +80x + 108
600 = 40x /40

15 = X

®© Reutner Johannes



QA 2003 Iv/1
Lose folgende Gleichung:

X X bx +4
Z+1=4-[=-10]|-
4" (4 ) 6

bx + 4
6

%+1=X—40—

12x 12(5x + 4)
6

T+12=12X—480—

3x+12 =12x - 480 - 2(5x + 4)

3x+12 =12x-480-10x- 8
3x+12 = 2x - 488

X = - 500

QA 2004 I/1
Lose folgende Gleichung:

35-:(205x -315)+1075 =725x -

7175x -11025 +1075 =725x -

1435x - 2205 + 215 = 145x - 61,5x + 410

143 5x - 1990
60x

X

615x - 410
2

615x - 410
2

= 83,5x + 410

®© Reutner Johannes

/ Klammer ausmultiplizieren

/ Hauptnenner - 12

/ Kiirzen

/ Klammer ausmultiplizieren
/ Zusammenfassen

/-2x/-12

/ Klammer ausmultiplizieren

/ Hauptnenner - 2

/ Zusammenfassen
/ - 83,5x + 1990

/: 60



QA 2004 II1/1
Lose folgende Gleichung:
7 (i_14)=6+x_2—6x

—-0.25-
2x X X 4x

=6+)(_2—6)(
2xX X X 4x

4X'7—4X.1+3,5'4X= Ax(6+x) 4x(2-6x)

2x X X 4x
14 -4 +14x =4(6 +x)-(2-6x)
10 +14x =24 +4x -2 + 6x

10 +14 x =22 + 10x
4x =12

X =3

QA 2005 II/1
Lose folgende Gleichung:

3(x+20) 5 1
—_— — — —— 2 —
2 32 (2x +05x)

x +0,75
2

3x +60

~0625-125x =~ *275

4(3x4+ 60) 0625+ 4 125x + 4 = 4(x +20,75)

3x+60-25-5x = 2(x +0,75)
3x+60-25-5x =2x+15
-2x+575 =2x+15
57,5 =4x+15
56 = 4x

14 = X

®© Reutner Johannes

/ Klammer ausmultiplizieren

/ Hauptnenner - 4x

/ Kiirzen

/Klammer ausmultiplizieren
/ Zusammenfassen
/-10x / -10

/4

/ Klammer ausmultiplizieren

/ Hauptnenner - 4

/ Kiirzen

/Klammer ausmultiplizieren
/ Zusammenfassen

/ +2x

/-15

/4



QA 2005 III/1
Lose folgende Gleichung:

(16,8x-144):4-2-(06x+09) =86-3-05x+114-(4,6+2x) /Klammer

42x-3,6 - 12x -18 =86- 15x +114 -46-2x  /zusammenf.
3x-54 = 15,4 - 3 bx /+3,5x
6,5x - 5,4 =15,4 /+54
6,5x = 20,8 /:75
X = 3,2

®© Reutner Johannes



